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1. In each set below (from 1.1 to 1.5), all of the characters (except for one exception) obey the

1.1
1.2
1.3

14 4 1 = 4

1.5

same shape-based “rule” (not related to semantics, phonology, morphology, syntax,
frequency, or history). Please (a) describe the shape-based rule for each set [2% each], (b)
identify the exception [1% each], and (c) give another exception [1% each], as in the

answers to the practice set. [20% total]
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(@) Rule: When strokes do not touch each other, they are parallel (<= {7 4%)
(b) Exception: ~

(c) Another exception: =
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